

$$I = \frac{1}{2} (1-x)^2 \arcsin(1-x) - \frac{1}{4} \arcsin(1-x) + \frac{1}{4} (1-x) \sqrt{1-(1-2x+x^2)} + C \quad (\text{ca } \arcsin \text{ } \text{yaca } \text{pesnyk.})$$

$$\textcircled{1} \int \ln(\sqrt{1-x} + \sqrt{1+x}) dx = \begin{pmatrix} u = \ln(\sqrt{1-x} + \sqrt{1+x}) & du = \frac{1}{\sqrt{1-x} + \sqrt{1+x}} \cdot \left( \frac{1}{2} \frac{-1}{\sqrt{1-x}} + \frac{1}{2} \frac{1}{\sqrt{1+x}} \right) dx \\ dv = dx & v = x \end{pmatrix}$$

$$= x \ln(\sqrt{1-x} + \sqrt{1+x}) + \int \frac{x}{\sqrt{1-x} + \sqrt{1+x}} \cdot \frac{1}{2} \cdot \frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1-x} \sqrt{1+x}} dx$$

$$= x \ln(\sqrt{1-x} + \sqrt{1+x}) + \frac{1}{2} \int \frac{x (\sqrt{1+x} - \sqrt{1-x})}{\sqrt{1-x^2} (\sqrt{1-x} + \sqrt{1+x})} \cdot \frac{\sqrt{1+x} - \sqrt{1-x}}{\sqrt{1+x} - \sqrt{1-x}} dx$$

$$= x \ln(\sqrt{1-x} + \sqrt{1+x}) + \frac{1}{2} \int \frac{x}{\sqrt{1-x^2}} \cdot \frac{(1+x) - 2\sqrt{1-x^2} + 1-x}{(1+x) - (1-x)} dx$$

$$= x \ln(\sqrt{1-x} + \sqrt{1+x}) + \frac{1}{2} \int \frac{x}{\sqrt{1-x^2}} \cdot \frac{2(1-\sqrt{1-x^2})}{2x} dx$$

$$= x \ln(\sqrt{1-x} + \sqrt{1+x}) + \frac{1}{2} \left( \int \frac{dx}{\sqrt{1-x^2}} - \int dx \right)$$

$$= x \ln(\sqrt{1-x} + \sqrt{1+x}) + \frac{1}{2} \arcsin x - \frac{1}{2} x + C$$

$$\textcircled{2} \int \frac{dx}{(\sqrt{x+2}+1)\sqrt{\sqrt{x+2}-1}} = \begin{pmatrix} t = \sqrt{x+2} & dx = 2t dt \\ t^2 = x+2 \end{pmatrix}$$

$$= \int \frac{2t dt}{(t+1)\sqrt{t-1}} = \begin{pmatrix} u^2 = t-1 \\ 2u du = dt \end{pmatrix} = \int \frac{2(u^2+1)2u du}{(u^2+2) \cdot u}$$

$$= 4 \int \frac{(u^2+1) du}{u^2+2} = 4 \int \frac{u^2+2-1}{u^2+2} du = 4 \left( u - \int \frac{du}{u^2+2} \right)$$

$$= 4 \left( u - \frac{1}{2} \int \frac{du}{\left(\frac{u}{\sqrt{2}}\right)^2 + 1} \right) = 4 \left( u - \frac{1}{2} \int \frac{d\left(\frac{u}{\sqrt{2}}\right) \cdot \sqrt{2}}{\left(\frac{u}{\sqrt{2}}\right)^2 + 1} \right)$$

$$= 4u - 4 \frac{\sqrt{2}}{2} \cdot \arctg \frac{u}{\sqrt{2}} + C = 4\sqrt{\sqrt{x+2}-1} - 2\sqrt{2} \arctg \frac{\sqrt{\sqrt{x+2}-1}}{\sqrt{2}} + C$$

$$\textcircled{3} \int \frac{\sqrt{x+1}}{(\sqrt{x+1}-1)^2} dx = \begin{pmatrix} t = \sqrt{x+1} & 2t dt = dx \\ t^2 = x+1 \end{pmatrix} = \int \frac{t-2t dt}{(t-1)^2}$$

$$= \int \frac{2t^2 dt}{(t-1)^2} = \int \frac{2(t^2-2t+1)+4t-2}{t^2-2t+1} dt = \int 2 dt + 2 \int \frac{2t-1}{t^2-2t+1} dt$$

$$\begin{aligned} m &= t^2-2t+1 \\ dm &= (2t-2) dt \end{aligned}$$

$$= 2 \cdot t + 2 \cdot \int \frac{2t-2+1}{t^2-2t+1} dt = 2t + 2 \left( \int \frac{dm}{m} + \int \frac{dt}{(t-1)^2} \right)$$

$$= 2t + 2 \ln|m| + \frac{-1}{t-1} + C = 2t + 2 \ln|t^2-2t+1| - \frac{2}{t-1} + C = 2\sqrt{x+1} + 4 \ln|\sqrt{x+1}-1| - \frac{2}{\sqrt{x+1}-1} + C$$

④  $a > 0$

$$I = \int \frac{x dx}{\sqrt[4]{x^3(a-x)}} = \int \frac{x dx}{\sqrt[4]{x^4 \cdot \frac{a-x}{x}}} = \int \frac{x dx}{\sqrt[4]{\frac{a-x}{x}}}$$

$x$	$-$	$+$	$+$
$a-x$	$+$	$+$	$-$
$\frac{a-x}{x}$	$-$	$+$	$-$

За  $x \in (0, a)$  је год  
 $bu = x$  иста

$$I = \int \sqrt[4]{\frac{x}{a-x}} dx$$

смена  $t = \sqrt[4]{\frac{x}{a-x}}$   
 $t^4(a-x) = x$   
 $t^4 a = x(1+t^4)$

$$x = \frac{a t^4}{1+t^4} = \frac{a(t^4+1)-a}{1+t^4}$$

$$dx = -a \cdot \frac{-4t^3 dt}{(1+t^4)^2} = \frac{4a t^3 dt}{(1+t^4)^2}$$

$$I = \int t \cdot \frac{4a t^3 dt}{(1+t^4)^2} = 4a \int \frac{t^4 dt}{(1+t^4)^2} = 4a \int \frac{t^4+1-1}{(t^4+1)^2} dt$$

$$I = 4a \left( \int \frac{dt}{t^4+1} - \int \frac{dt}{(t^4+1)^2} \right)$$

$$J = \int \frac{dt}{t^4+1} \text{ (обај сине рачунами на вештама)}$$

$$\int \frac{dt}{(t^4+1)^2} = ? \text{ годубитено за изрече } J \text{ !}$$

$$J = \int \frac{dt}{t^4+1} = \left( \begin{array}{l} u = \frac{1}{t^4+1} \quad du = \frac{-4t^3 dt}{(t^4+1)^2} \\ dv = dt \quad v = t \end{array} \right)$$

$$J = \frac{t}{t^4+1} + 4 \int \frac{t^3 dt}{(t^4+1)^2}$$

"  $\frac{1}{a} I$

$$\frac{1}{a} I = J - \frac{t}{t^4+1}$$

$$I = aJ - \frac{at}{t^4+1}$$

и пошредно је још на крају све изражити  
 преко  $x$  (заменом  $t = \sqrt[4]{\frac{x}{a-x}}$ )

$$\textcircled{5} \quad I = \int \frac{dx}{(x-a)^{\frac{n+1}{n}} \cdot (x-b)^{\frac{n-1}{n}}}, \quad a \neq b$$

$$I = \int \frac{dx}{(x-a)(x-b) \cdot \frac{(x-a)^{1/n}}{(x-b)^{1/n}}} = \int \frac{dx}{(x-a)(x-b)^{n/n} \sqrt[n]{\frac{x-a}{x-b}}}$$

$$x-b = \frac{a-bt^n}{1-t^n} - b = \frac{a-bt^n - b + bt^n}{1-t^n} = \frac{a-b}{1-t^n}$$

$$x-a = t^n(x-b) = t^n \cdot \frac{a-b}{1-t^n}$$

$$I = \int \frac{\frac{n(a-b)t^{n-1}}{(t^n-1)^2} dt}{\frac{t^n(a-b)}{1-t^n} \cdot \frac{a-b}{1-t^n} \cdot t} = \int \frac{n t^{n-1} dt}{(a-b) t^{n+1} (1-t^n)^2}$$

$$I = \frac{n}{a-b} \int \frac{dt}{t^2} = \frac{n}{a-b} \cdot \frac{-1}{t} + C$$

$$I = \frac{n}{a-b} \cdot \frac{-1}{\sqrt[n]{\frac{x-a}{x-b}}} + C$$

мена:  $t = \sqrt[n]{\frac{x-a}{x-b}}$

$$t^n = \frac{x-a}{x-b}$$

$$x-a = t^n(x-b)$$

$$x(1-t^n) = a-bt^n$$

$$x = \frac{a-bt^n}{1-t^n}$$

$$dx = \frac{-bn t^{n-1}(1-t^n) + nt^{n-1}(a-bt^n)}{(1-t^n)^2} dt$$

$$dx = \frac{-bn t^{n-1} + bnt^{2n-1} + nat^{n-1} - nb^2 t^{2n-1}}{(1-t^n)^2} dt$$

$$dx = \frac{n(a-b)t^{n-1}}{(t^n-1)^2} dt$$

$$\textcircled{6} \quad I = \int \frac{\sin x dx}{\sqrt{2+2\sin x \cos x}} = \int \frac{\sin x dx}{\sqrt{2+2\sin x \cos x}}$$

1)  $2+2\sin x \cos x = 2 + (\sin x + \cos x)^2 - 1 = 1 + (\sin x + \cos x)^2$ ,  $t_1 = \sin x + \cos x$

2)  $2+2\sin x \cos x = 2 - (\sin x - \cos x)^2 + 1 = 3 - (\sin x - \cos x)^2$ ,  $t_2 = \sin x - \cos x$

$\downarrow$   
 $dt_2 = (\cos x + \sin x) dx$

$$I = \int \frac{\sin x + \cos x + \sin x - \cos x}{2\sqrt{2+2\sin x \cos x}} dx = \int \frac{\sin x + \cos x}{2\sqrt{3 - (\sin x - \cos x)^2}} dx + \int \frac{\sin x - \cos x}{2\sqrt{1 + (\sin x + \cos x)^2}} dx$$

$$I = \frac{1}{2} \left( \int \frac{dt_2}{\sqrt{3-t_2^2}} + \int \frac{-dt_1}{\sqrt{1+t_1^2}} \right) = \frac{1}{2} \left( \int \frac{dt_2}{\sqrt{3-\left(\frac{t_2}{\sqrt{3}}\right)^2}} - \int \frac{dt_1}{\sqrt{1+t_1^2}} \right)$$

$$I = \frac{1}{2} \left( \arcsin \frac{t_2}{\sqrt{3}} - \ln(t_1 + \sqrt{t_1^2+1}) \right) + C$$

$$I = \frac{1}{2} \left( \arcsin \frac{\sin x - \cos x}{\sqrt{3}} - \ln(\sin x + \cos x + \sqrt{2+2\sin x \cos x}) \right) + C$$